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rcardis
Note
	Bartlett test of homogeneity of variances

data:  val by phase
Bartlett's K-squared = 0.033981, df = 1, p-value = 0.8537


	Bartlett test of homogeneity of variances

data:  val by treat
Bartlett's K-squared = 0.00018678, df = 1, p-value = 0.9891

[1] 0 1

	Shapiro-Wilk normality test

data:  data$val[data$phase == p & data$treat == t]
W = 0.9787, p-value = 0.9275

[1] 1 1

	Shapiro-Wilk normality test

data:  data$val[data$phase == p & data$treat == t]
W = 0.93606, p-value = 0.5411

[1] 0 2

	Shapiro-Wilk normality test

data:  data$val[data$phase == p & data$treat == t]
W = 0.97537, p-value = 0.9085

[1] 1 2

	Shapiro-Wilk normality test

data:  data$val[data$phase == p & data$treat == t]
W = 0.96443, p-value = 0.8433

[1] "ANOVA"

Error: ind
          Df Sum Sq Mean Sq F value Pr(>F)  
treat      1 0.2892 0.28918   8.949 0.0112 *
Residuals 12 0.3878 0.03232                 
---
Signif. codes:  0 ‘***’ 0.001 ‘**’ 0.01 ‘*’ 0.05 ‘.’ 0.1 ‘ ’ 1

Error: ind:phase
            Df Sum Sq Mean Sq F value   Pr(>F)    
phase        1 0.3451  0.3451 470.610 5.39e-11 ***
phase:treat  1 0.0039  0.0039   5.331   0.0395 *  
Residuals   12 0.0088  0.0007                     
---
Signif. codes:  0 ‘***’ 0.001 ‘**’ 0.01 ‘*’ 0.05 ‘.’ 0.1 ‘ ’ 1
[1] "Paired T test for the sham between continuity and fragility"

	Paired t-test

data:  data$val[data$treat == 0 & data$phase == 1] and data$val[data$treat == 0 & data$phase == 2]
t = 17.982, df = 4, p-value = 5.622e-05
alternative hypothesis: true difference in means is not equal to 0
95 percent confidence interval:
 0.2145607 0.2929151
sample estimates:
mean of the differences 
              0.2537379 

[1] "Paired T test for the SNI between continuity and fragility"

	Paired t-test

data:  data$val[data$treat == 1 & data$phase == 1] and data$val[data$treat == 1 & data$phase == 2]
t = 14.865, df = 8, p-value = 4.134e-07
alternative hypothesis: true difference in means is not equal to 0
95 percent confidence interval:
 0.1727052 0.2361295
sample estimates:
mean of the differences 
              0.2044173 

[1] "T test for sham VS SNI in continuity"

	Two Sample t-test

data:  data$val[data$treat == 0 & data$phase == 1] and data$val[data$treat == 1 & data$phase == 1]
t = -2.5166, df = 12, p-value = 0.02708
alternative hypothesis: true difference in means is not equal to 0
95 percent confidence interval:
 -0.34970985 -0.02515675
sample estimates:
 mean of x  mean of y 
-0.6271992 -0.4397659 

[1] "T test for sham VS SNI in fragility"

	Two Sample t-test

data:  data$val[data$treat == 0 & data$phase == 2] and data$val[data$treat == 1 & data$phase == 2]
t = -3.4407, df = 12, p-value = 0.004888
alternative hypothesis: true difference in means is not equal to 0
95 percent confidence interval:
 -0.38667595 -0.08683178
sample estimates:
 mean of x  mean of y 
-0.8809371 -0.6441832

rcardis
Note
	Bartlett test of homogeneity of variances

data:  val by phase
Bartlett's K-squared = 2.8425, df = 1, p-value = 0.0918


	Bartlett test of homogeneity of variances

data:  val by treat
Bartlett's K-squared = 0.61356, df = 1, p-value = 0.4335

[1] 0 1

	Shapiro-Wilk normality test

data:  data$val[data$phase == p & data$treat == t]
W = 0.87724, p-value = 0.297

[1] 1 1

	Shapiro-Wilk normality test

data:  data$val[data$phase == p & data$treat == t]
W = 0.96664, p-value = 0.8645

[1] 0 2

	Shapiro-Wilk normality test

data:  data$val[data$phase == p & data$treat == t]
W = 0.91125, p-value = 0.4752

[1] 1 2

	Shapiro-Wilk normality test

data:  data$val[data$phase == p & data$treat == t]
W = 0.96115, p-value = 0.8103

[1] "ANOVA"

Error: ind
          Df    Sum Sq   Mean Sq F value Pr(>F)
treat      1 0.0000547 0.0000547   0.209  0.656
Residuals 12 0.0031366 0.0002614               

Error: ind:phase
            Df   Sum Sq   Mean Sq F value Pr(>F)  
phase        1 0.001135 0.0011347   3.834 0.0739 .
phase:treat  1 0.000388 0.0003883   1.312 0.2744  
Residuals   12 0.003552 0.0002960                 
---
Signif. codes:  0 ‘***’ 0.001 ‘**’ 0.01 ‘*’ 0.05 ‘.’ 0.1 ‘ ’ 1

rcardis
Note
	Bartlett test of homogeneity of variances

data:  val by phase
Bartlett's K-squared = 0.015261, df = 1, p-value = 0.9017


	Bartlett test of homogeneity of variances

data:  val by treat
Bartlett's K-squared = 0.15889, df = 1, p-value = 0.6902

[1] 0 1

	Shapiro-Wilk normality test

data:  data$val[data$phase == p & data$treat == t]
W = 0.99302, p-value = 0.9891

[1] 1 1

	Shapiro-Wilk normality test

data:  data$val[data$phase == p & data$treat == t]
W = 0.9266, p-value = 0.4496

[1] 0 2

	Shapiro-Wilk normality test

data:  data$val[data$phase == p & data$treat == t]
W = 0.84421, p-value = 0.1769

[1] 1 2

	Shapiro-Wilk normality test

data:  data$val[data$phase == p & data$treat == t]
W = 0.97107, p-value = 0.9038

[1] "ANOVA"

Error: ind
          Df Sum Sq Mean Sq F value  Pr(>F)   
treat      1 0.3236  0.3236   11.26 0.00573 **
Residuals 12 0.3451  0.0288                   
---
Signif. codes:  0 ‘***’ 0.001 ‘**’ 0.01 ‘*’ 0.05 ‘.’ 0.1 ‘ ’ 1

Error: ind:phase
            Df  Sum Sq Mean Sq F value   Pr(>F)    
phase        1 0.03515 0.03515  25.344 0.000292 ***
phase:treat  1 0.00363 0.00363   2.614 0.131883    
Residuals   12 0.01664 0.00139                     
---
Signif. codes:  0 ‘***’ 0.001 ‘**’ 0.01 ‘*’ 0.05 ‘.’ 0.1 ‘ ’ 1

rcardis
Note
	Bartlett test of homogeneity of variances

data:  val by phase
Bartlett's K-squared = 8.7832, df = 1, p-value = 0.00304


	Bartlett test of homogeneity of variances

data:  val by treat
Bartlett's K-squared = 1.6845, df = 1, p-value = 0.1943

[1] 0 1

	Shapiro-Wilk normality test

data:  data$val[data$phase == p & data$treat == t]
W = 0.98118, p-value = 0.9408

[1] 1 1

	Shapiro-Wilk normality test

data:  data$val[data$phase == p & data$treat == t]
W = 0.91398, p-value = 0.3448

[1] 0 2

	Shapiro-Wilk normality test

data:  data$val[data$phase == p & data$treat == t]
W = 0.84331, p-value = 0.1743

[1] 1 2

	Shapiro-Wilk normality test

data:  data$val[data$phase == p & data$treat == t]
W = 0.90322, p-value = 0.2713

[1] "ANOVA"

Error: ind
          Df  Sum Sq  Mean Sq F value Pr(>F)
treat      1 0.00029 0.000293   0.045  0.836
Residuals 12 0.07875 0.006563               

Error: ind:phase
            Df Sum Sq Mean Sq F value   Pr(>F)    
phase        1 0.5724  0.5724  44.500 2.29e-05 ***
phase:treat  1 0.0117  0.0117   0.911    0.359    
Residuals   12 0.1544  0.0129                     
---
Signif. codes:  0 ‘***’ 0.001 ‘**’ 0.01 ‘*’ 0.05 ‘.’ 0.1 ‘ ’ 1

rcardis
Note
	Bartlett test of homogeneity of variances

data:  val by tre
Bartlett's K-squared = 1.9852, df = 1, p-value = 0.1588

	Bartlett test of homogeneity of variances

data:  val by peak
Bartlett's K-squared = 3.414, df = 1, p-value = 0.06465

	Bartlett test of homogeneity of variances

data:  val by phase
Bartlett's K-squared = 3.5813, df = 1, p-value = 0.05843

[1] 0 1 0

	Shapiro-Wilk normality test

data:  data$val[data$peak == pe & data$tre == tr & data$phase == ph]
W = 0.97039, p-value = 0.8777

[1] 1 1 0

	Shapiro-Wilk normality test

data:  data$val[data$peak == pe & data$tre == tr & data$phase == ph]
W = 0.86867, p-value = 0.119

[1] 0 2 0

	Shapiro-Wilk normality test

data:  data$val[data$peak == pe & data$tre == tr & data$phase == ph]
W = 0.94232, p-value = 0.6824

[1] 1 2 0

	Shapiro-Wilk normality test

data:  data$val[data$peak == pe & data$tre == tr & data$phase == ph]
W = 0.92938, p-value = 0.4755

[1] 0 1 1

	Shapiro-Wilk normality test

data:  data$val[data$peak == pe & data$tre == tr & data$phase == ph]
W = 0.8803, p-value = 0.3107

[1] 1 1 1

	Shapiro-Wilk normality test

data:  data$val[data$peak == pe & data$tre == tr & data$phase == ph]
W = 0.94072, p-value = 0.5894

[1] 0 2 1

	Shapiro-Wilk normality test

data:  data$val[data$peak == pe & data$tre == tr & data$phase == ph]
W = 0.93584, p-value = 0.6367

[1] 1 2 1

	Shapiro-Wilk normality test

data:  data$val[data$peak == pe & data$tre == tr & data$phase == ph]
W = 0.95715, p-value = 0.7681

	ANOVA

Error: ani
          Df Sum Sq Mean Sq F value Pr(>F)
tre        1  1.805   1.805   1.752   0.21
Residuals 12 12.366   1.030               

Error: ani:peak
          Df Sum Sq Mean Sq F value   Pr(>F)    
peak       1 285.26  285.26  26.716 0.000234 ***
tre:peak   1   4.95    4.95   0.464 0.508805    
Residuals 12 128.13   10.68                     
---
Signif. codes:  0 ‘***’ 0.001 ‘**’ 0.01 ‘*’ 0.05 ‘.’ 0.1 ‘ ’ 1

Error: ani:phase
          Df Sum Sq Mean Sq F value  Pr(>F)   
phase      1 178.32  178.32  11.188 0.00584 **
tre:phase  1  11.46   11.46   0.719 0.41301   
Residuals 12 191.26   15.94                   
---
Signif. codes:  0 ‘***’ 0.001 ‘**’ 0.01 ‘*’ 0.05 ‘.’ 0.1 ‘ ’ 1

Error: Within
               Df Sum Sq Mean Sq F value  Pr(>F)   
phase:peak      1 18.495  18.495  10.678 0.00673 **
tre:phase:peak  1  0.318   0.318   0.184 0.67579   
Residuals      12 20.785   1.732                   
---
Signif. codes:  0 ‘***’ 0.001 ‘**’ 0.01 ‘*’ 0.05 ‘.’ 0.1 ‘ ’ 1

> # T test for Sham continuity in no peak vs continuity peak
> t.test(data$val[data$tre==0 & data$peak==0 & data$phase==1],
+        data$val[data$tre==0 & data$peak==1 & data$phase==1], paired = T)

	Paired t-test

data:  data$val[data$tre == 0 & data$peak == 0 & data$phase == 1] and data$val[data$tre == 0 & data$peak == 1 & data$phase == 1]
t = -4.0169, df = 4, p-value = 0.01591
alternative hypothesis: true difference in means is not equal to 0
95 percent confidence interval:
 -7.381587 -1.347853
sample estimates:
mean of the differences 
               -4.36472 

> 
> # T test for Sham fragility in no peak vs continuity peak
> t.test(data$val[data$tre==0 & data$peak==0 & data$phase==2],
+        data$val[data$tre==0 & data$peak==1 & data$phase==2], paired = T)

	Paired t-test

data:  data$val[data$tre == 0 & data$peak == 0 & data$phase == 2] and data$val[data$tre == 0 & data$peak == 1 & data$phase == 2]
t = -4.6189, df = 4, p-value = 0.009889
alternative hypothesis: true difference in means is not equal to 0
95 percent confidence interval:
 -10.021158  -2.496688
sample estimates:
mean of the differences 
              -6.258923 

> 
> # T test for SNI continuity in no peak vs continuity peak
> t.test(data$val[data$tre==1 & data$peak==0 & data$phase==1],
+        data$val[data$tre==1 & data$peak==1 & data$phase==1], paired = T)

	Paired t-test

data:  data$val[data$tre == 1 & data$peak == 0 & data$phase == 1] and data$val[data$tre == 1 & data$peak == 1 & data$phase == 1]
t = -2.8203, df = 8, p-value = 0.02248
alternative hypothesis: true difference in means is not equal to 0
95 percent confidence interval:
 -5.1056121 -0.5122155
sample estimates:
mean of the differences 
              -2.808914 

> 
> # T test for SNI fragility in no peak vs continuity peak
> t.test(data$val[data$tre==1 & data$peak==0 & data$phase==2],
+        data$val[data$tre==1 & data$peak==1 & data$phase==2], paired = T)

	Paired t-test

data:  data$val[data$tre == 1 & data$peak == 0 & data$phase == 2] and data$val[data$tre == 1 & data$peak == 1 & data$phase == 2]
t = -3.5111, df = 8, p-value = 0.007948
alternative hypothesis: true difference in means is not equal to 0
95 percent confidence interval:
 -8.834557 -1.830237
sample estimates:
mean of the differences 
              -5.332397 

rcardis
Note
	Two Sample t-test

data:  g1 and g2
t = -2.6652, df = 12, p-value = 0.02059
alternative hypothesis: true difference in means is not equal to 0
95 percent confidence interval:
 -0.10982107 -0.01102782
sample estimates:
mean of x mean of y 
0.3672200 0.4276444 


